INSTALLATION MANUAL

| Quarto T - 70 (80,90)




A32

A5

N

1

A4

=2

1800mm

A30

M4X12

=4

A3

=4

A9

=16

M4 X8

A29

M4X25 =8

A2

@I

=2

A8

=4

A24

M4X15 =8

o) =]
\_‘ X 3mm Diameter Drill Bit ;
silico

O
—




	Quarto
	Quarto-2

